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MAP 2302 Test 1 Tuesday September 24th
‘Total possible score: 18 points

Question 1. Verify that the function y = ze'® is a solution of the differential
equation 3’ — Ty = ™.
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Question 2. Find an explicit general solution of the differential equation.
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Question 3. Find an explicit general solution of the differential equation.

! 1 :
Y+ _y=32+8 L inear

y + (-,%) y = (3x+38)

We fknow we can use
e L
P(x ) Q%) o3P 4e
Ny integrobing frchr
Pi) = % {;?f nefg’ one )
JPexydx = dn %

SPeOAX _ I _ N & integpuh fp e,
€ Mufjg,{ﬂ EH« sides of DE by x.

= ’)CU/ +T9 = 3+ Ex

M) = e

;(03,{2 [ ®y) = 3+ 3x
Ky = j (3x*+ %) d¥
xiw = ol R+
I




Question 4. Find an explicit solution of the initial value problem.
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Question 5. Find an explicit solution of the initial value problem.

(2zy +5)dz + (2 —1)dy =0, y(2)=3
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Question 6. Solve the differential equation.
(2zy) dx + (v* — 32%) dy = 0

HINT: Start by multiplying both sides by y=*.
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Question?. Solve the initial value problem.

y' -4y —5y=0, y0)=6, ¢(0)=6
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Question,g. Solve the initial value problem.
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Question ‘f Solve the initial value problem.

dy zy-y 1
de  z2

HINT: Start with the substitution v = y/z.
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